# Bid Breakdown

Bid Date: Monday, July 25, 2019 @ 2:00 PM

Base Bid			Double Jay (	Construction	<b>Brumbaugh Construction</b>		M & T Excavating, LLC		Outdoor Enterprise, LLC		
							Total Unit		Total Unit		Total Unit
<u>Item</u>	<u>Description</u>	Quar	<u>ıtity</u>	<u>Unit Price</u> <u>T</u>	Total Unit Price	Unit Price	<u>Price</u>	Unit Price	<u>Price</u>	Unit Price	<u>Price</u>
201	Stump Removed	16	Each	\$340.00	\$5,440.00	\$250.00	\$4,000.00	\$313.72	\$5,019.52	\$300.00	\$4,800.00
202	Catch Basin Removed	10	Each	\$208.00	\$2,080.00	\$350.00	\$3,500.00	\$253.00	\$2,530.00	\$450.00	\$4,500.00
202	Manhole Removed	5	Each	\$480.00	\$2,400.00	\$650.00	\$3,250.00	\$657.80	\$3,289.00	\$550.00	\$2,750.00
202	Curb and Gutter Removed	513	L.F.	\$4.55	\$2,334.15	\$9.00	\$4,617.00	\$2.23	\$1,143.99	\$7.00	\$3,591.00
202	Concrete Pavement Removed, Drives	279	S.Y.	\$11.75	\$3,278.25	\$10.00	\$2,790.00	\$16.19	\$4,517.01	\$12.00	\$3,348.00
202	Walk Removed	9260	S.F.	\$1.15	\$10,649.00	\$1.25	\$11,575.00	\$1.06	\$9,815.60	\$1.50	\$13,890.00
202	Pipe Removed	132	L.F.	\$13.05	\$1,722.60	\$10.00	\$1,320.00	\$28.34	\$3,740.88	\$6.00	\$792.00
203	Excavation, As Per Plan	1,900	C.Y.	\$11.60	\$22,040.00	\$16.00	\$30,400.00	\$18.26	\$34,694.00	\$22.00	\$41,800.00
204	Subgrade Compaction & Proof Rolling	6,000	S.Y.	\$1.00	\$6,000.00	\$1.25	\$7,500.00	\$1.02	\$6,120.00	\$1.00	\$6,000.00
204	Subgrade Preparation	200	C.Y.	\$42.55	\$8,510.00	\$60.00	\$12,000.00	\$6.83	\$1,366.00	\$80.00	\$16,000.00
204	Subgrade Stabilization - Geogrid	1,200	S.Y.	\$4.20	\$5,040.00	\$4.60	\$5,520.00	\$4.96	\$5,952.00	\$5.00	\$6,000.00
301	Asphalt Concrete Base	666	C.Y.	\$140.90	\$93,839.40	\$132.00	\$87,912.00	\$160.37	\$106,806.42	\$148.00	\$98,568.00
304	Aggregate Base, As Per Plan	671	C.Y.	\$38.20	\$25,632.20	\$40.00	\$26,840.00	\$39.52	\$26,517.92	\$55.00	\$36,905.00
407	Non-Tracking Tack Coat	330	Gal.	\$5.50	\$1,815.00	\$5.00	\$1,650.00	\$6.68	\$2,204.40	\$6.00	\$1,980.00
441	Asphalt Concrete Intermediate, Type 2 (448)	292	C.Y.	\$159.10	\$46,457.20	\$145.00	\$42,340.00	\$161.42	\$47,134.64	\$170.00	\$49,640.00
452	Non-Reinforced Concrete Pavement	376	S.Y.	\$66.50	\$25,004.00	\$75.00	\$28,200.00	\$71.85	\$27,015.60	\$71.00	\$26,696.00
608	Concrete Walk, As Per Plan	11,482	S.F.	\$5.30	\$60,854.60	\$5.00	\$57,410.00	\$5.93	\$68,088.26	\$5.70	\$65,447.40
608	Curb Ramp w/Detectable Warnings	17	Each	\$520.00	\$8,840.00	\$600.00	\$10,200.00	\$627.44	\$10,666.48	\$500.00	\$8,500.00
609	Combination Curb & Gutter, As Per Plan	3,086	L.F.	\$21.85	\$67,429.10	\$18.50	\$57,091.00	\$16.65	\$51,381.90	\$21.50	\$66,349.00
611	4" Storm Drain Repair	1	Each	\$89.00	\$89.00	\$150.00	\$150.00	\$126.50	\$126.50	\$550.00	\$550.00
611	6" Storm Drain Repair	1	Each	\$124.00	\$124.00	\$250.00	\$250.00	\$153.83	\$153.83	\$620.00	\$620.00
611	8" Storm Drain Repair	1	Each	\$171.00	\$171.00	\$400.00	\$400.00	\$180.14	\$180.14	\$680.00	\$680.00
611	12" Storm Drain Repair	1	Each	\$276.00	\$276.00	\$600.00	\$600.00	\$207.46	\$207.46	\$1,000.00	\$1,000.00
611	12" Conduit, Type B (707.33)	503	L.F.	\$36.30	\$18,258.90	\$48.00	\$24,144.00	\$60.72	\$30,542.16	\$30.00	\$15,090.00
611	15" Conduit, Type B (707.33)	906	L.F.	\$40.20	\$36,421.20	\$51.00	\$46,206.00	\$61.79	\$55,981.74	\$36.00	\$32,616.00
611	18" Conduit, Type B (707.33)	452	L.F.	\$44.50	\$20,114.00	\$55.00	\$24,860.00	\$67.80	\$30,645.60	\$45.00	\$20,340.00
611	24" Conduit, Type B (707.33)	20	L.F.	\$68.25	\$1,365.00	\$73.00	\$1,460.00	\$73.37	\$1,467.40	\$75.00	\$1,500.00
611	36" Conduit, Type B (707.33)	20	L.F.	\$81.50	\$1,630.00	\$105.00	\$2,100.00	\$78.73	\$1,574.60	\$90.00	\$1,800.00
611	36" x 24" Reducer (707.33)	1	Each	\$1,499.00	\$1,499.00	\$1,500.00	\$1,500.00	\$1,084.72	\$1,084.72	\$1,000.00	\$1,000.00
611	24" x 18" Reducer (707.33)	1	Each	\$942.00	\$942.00	\$1,050.00	\$1,050.00	\$504.02	\$504.02	\$500.00	\$500.00

# Bid Breakdown

Base Bid			Double Jay	Construction	Brumbaugh (	<b>Brumbaugh Construction</b>		M & T Excavating, LLC		erprise, LLC	
							Total Unit		Total Unit		Total Unit
<u>Item</u>	<u>Description</u>	<u>(</u>	<u>Quantity</u>	Unit Price	Total Unit Price	Unit Price	<u>Price</u>	Unit Price	<u>Price</u>	Unit Price	<u>Price</u>
611	Storm Manhole Type A, As Per Plan	11	Each	\$2,238.00	\$24,618.00	\$2,500.00	\$27,500.00	\$2,125.20	\$23,377.20	\$2,200.00	\$24,200.00
611	Catch Basin Type A, As Per Plan	22	Each	\$1,744.00	\$38,368.00	\$1,500.00	\$33,000.00	\$1,518.00	\$33,396.00	\$2,200.00	\$48,400.00
611	Manhole Reconstructed to Grade	1	Each	\$649.00	\$649.00	\$850.00	\$850.00	\$303.60	\$303.60	\$800.00	\$800.00
614	Maintaining Traffic, As Per Plan	1	Lump	\$31,870.00	\$31,870.00	\$6,000.00	\$6,000.00	\$4,114.03	\$4,114.03	\$10,000.00	\$10,000.00
624	Mobilization	1	Lump	\$10,200.55	\$10,200.55	\$20,057.00	\$20,057.00	\$6,000.00	\$6,000.00	\$10,000.00	\$10,000.00
630	Removal of Signs/Supports and Reinstallation	1	Lump	\$852.00	\$852.00	\$2,000.00	\$2,000.00	\$2,530.00	\$2,530.00	\$2,300.00	\$2,300.00
638	Fire Hydrant Removed, As Per Plan	3	Each	\$570.00	\$1,710.00	\$600.00	\$1,800.00	\$391.65	\$1,174.95	\$900.00	\$2,700.00
638	Water Valve Abandoned, As Per Plan	9	Each	\$306.00	\$2,754.00	\$100.00	\$900.00	\$379.50	\$3,415.50	\$350.00	\$3,150.00
659	Seeding and Mulching, As Per Plan	1,12	5 S.Y.	\$6.90	\$7,762.50	\$12.00	\$13,500.00	\$5.11	\$5,748.75	\$10.00	\$11,250.00
32 12 18	Asphalt Concrete, Surface - Darke 404 - LV	20	C.Y.	\$169.85	\$35,498.65	\$160.00	\$33,440.00	\$190.76	\$39,868.84	\$180.00	\$37,620.00
32 12 34	Asphalt Rejuvenating Agent (Reclamite)	6,00	0 S.Y.	\$1.18	\$7,080.00	\$1.10	\$6,600.00	\$1.22	\$7,320.00	\$1.20	\$7,200.00
33 11 13	8" Water Line (AWWA C151, Class 53)	1,62	6 L.F.	\$64.45	\$104,795.70	\$79.00	\$128,454.00	\$70.84	\$115,185.84	\$75.00	\$121,950.00
33 11 13	8" x 8" Tee	2	Each	\$498.00	\$996.00	\$350.00	\$700.00	\$1,172.88	\$2,345.76	\$280.00	\$560.00
33 11 13	8" x 6" Tee	5	Each	\$448.00	\$2,240.00	\$325.00	\$1,625.00	\$1,151.72	\$5,758.60	\$265.00	\$1,325.00
33 11 13	8" Plug	1	Each	\$335.00	\$335.00	\$225.00	\$225.00	\$159.90	\$159.90	\$510.00	\$510.00
33 11 13	8" - 45° Bend	4	Each	\$282.00	\$1,128.00	\$300.00	\$1,200.00	\$527.48	\$2,109.92	\$170.00	\$680.00
33 11 13	6" - 45° Bend	2	Each	\$236.00	\$472.00	\$275.00	\$550.00	\$457.42	\$914.84	\$120.00	\$240.00
33 11 13	12" x 8" Reducer	1	Each	\$464.00	\$464.00	\$450.00	\$450.00	\$547.39	\$547.39	\$230.00	\$230.00
33 11 13	8" x 6" Reducer	1	Each	\$370.00	\$370.00	\$400.00	\$400.00	\$480.02	\$480.02	\$140.00	\$140.00
33 11 13	12" Cutting-in-Sleeve	1	Each	\$1,698.00	\$1,698.00	\$1,500.00	\$1,500.00	\$2,347.84	\$2,347.84	\$1,800.00	\$1,800.00
33 11 13	8" Cutting-in-Sleeve	1	Each	\$982.00	\$982.00	\$1,300.00	\$1,300.00	\$1,498.77	\$1,498.77	\$1,000.00	\$1,000.00
33 11 13	6" Cutting-in-Sleeve	1	Each	\$894.00	\$894.00	\$1,100.00	\$1,100.00	\$1,392.01	\$1,392.01	\$950.00	\$950.00
33 12 13	Water Service Connection	47	Each	\$1,107.00	\$52,029.00	\$1,700.00	\$79,900.00	\$965.45	\$45,376.15	\$1,000.00	\$47,000.00
33 12 13	2" Water Connection	1	Each	\$2,148.00	\$2,148.00	\$2,100.00	\$2,100.00	\$4,857.50	\$4,857.50	\$9,000.00	\$9,000.00
33 12 16	8" Gate Valve w/Box	7	Each	\$1,157.00	\$8,099.00	\$1,500.00	\$10,500.00	\$1,730.52	\$12,113.64	\$1,100.00	\$7,700.00
33 12 16	6" Gate Valve w/Box	5	Each	\$748.00	\$3,740.00	\$1,200.00	\$6,000.00	\$2,809.28	\$14,046.40	\$800.00	\$4,000.00
33 12 19	Fire Hydrant	5	Each	\$3,950.00	\$19,750.00	\$4,000.00	\$20,000.00	\$4,933.50	\$24,667.50	\$4,500.00	\$22,500.00
Spec	12" Inserta Tee Connection	3	Each	\$746.00	\$2,238.00	\$700.00	\$2,100.00	\$1,022.12	\$3,066.36	\$1,000.00	\$3,000.00
Spec	Drain Line Curb Opening	1	Each	\$757.00	\$757.00	\$225.00	\$225.00	\$278.30	\$278.30	\$100.00	\$100.00
		Total Base Bid		_	\$844,754.00	=	\$904,811.00	_	\$904,867.40 *	_	\$913,557.40

<sup>\*</sup>Mathematical errors resolved in favor of the Unit Price.

				Bid Break	kdown						
				Shinn Br	Shinn Bros., Inc. VTF Excavation, LLC			L.J. DeWees	e Co., Inc.	Tom's Construction, Inc.	
							Total Unit		Total Unit		Total Unit
<u>Item</u>	<u>Description</u>	Quar	tity	<u>Unit Price</u> <u>To</u>	otal Unit Price	<u>Unit Price</u>	<u>Price</u>	<u>Unit Price</u>	<u>Price</u>	Unit Price	<u>Price</u>
201	Stump Removed	16	Each	\$215.00	\$3,440.00	\$162.26	\$2,596.16	\$324.00	\$5,184.00	\$369.09	\$5,905.44
202	Catch Basin Removed	10	Each	\$220.00	\$2,200.00	\$478.81	\$4,788.10	\$324.00	\$3,240.00	\$395.17	\$3,951.70
202	Manhole Removed	5	Each	\$435.00	\$2,175.00	\$1,041.41	\$5,207.05	\$324.00	\$1,620.00	\$1,162.24	\$5,811.20
202	Curb and Gutter Removed	513	L.F.	\$2.00	\$1,026.00	\$2.44	\$1,251.72	\$5.40	\$2,770.20	\$3.22	\$1,651.86
202	Concrete Pavement Removed, Drives	279	S.Y.	\$7.00	\$1,953.00	\$4.75	\$1,325.25	\$18.00	\$5,022.00	\$20.20	\$5,635.80
202	Walk Removed	9260	S.F.	\$0.50	\$4,630.00	\$1.84	\$17,038.40	\$1.35	\$12,501.00	\$1.01	\$9,352.60
202	Pipe Removed	132	L.F.	\$14.00	\$1,848.00	\$15.81	\$2,086.92	\$22.00	\$2,904.00	\$33.55	\$4,428.60
203	Excavation, As Per Plan	1,900	C.Y.	\$14.50	\$27,550.00	\$19.19	\$36,461.00	\$36.00	\$68,400.00	\$15.80	\$30,020.00
204	Subgrade Compaction & Proof Rolling	6,000	S.Y.	\$0.60	\$3,600.00	\$0.64	\$3,840.00	\$1.50	\$9,000.00	\$0.61	\$3,660.00
204	Subgrade Preparation	200	C.Y.	\$50.00	\$10,000.00	\$49.35	\$9,870.00	\$55.00	\$11,000.00	\$49.01	\$9,802.00
204	Subgrade Stabilization - Geogrid	1,200	S.Y.	\$7.00	\$8,400.00	\$4.62	\$5,544.00	\$3.20	\$3,840.00	\$4.23	\$5,076.00
301	Asphalt Concrete Base	666	C.Y.	\$147.00	\$97,902.00	\$167.88	\$111,808.08	\$140.00	\$93,240.00	\$145.72	\$97,049.52
304	Aggregate Base, As Per Plan	671	C.Y.	\$43.00	\$28,853.00	\$35.89	\$24,082.19	\$65.00	\$43,615.00	\$49.45	\$33,180.95
407	Non-Tracking Tack Coat	330	Gal.	\$6.00	\$1,980.00	\$6.00	\$1,980.00	\$5.50	\$1,815.00	\$5.68	\$1,874.40
441	Asphalt Concrete Intermediate, Type 2 (448)	292	C.Y.	\$165.00	\$48,180.00	\$180.00	\$52,560.00	\$150.00	\$43,800.00	\$164.63	\$48,071.96
452	Non-Reinforced Concrete Pavement	376	S.Y.	\$77.00	\$28,952.00	\$74.75	\$28,106.00	\$90.00	\$33,840.00	\$72.72	\$27,342.72
608	Concrete Walk, As Per Plan	11,482	S.F.	\$8.00	\$91,856.00	\$6.18	\$70,958.76	\$6.25	\$71,762.50	\$7.07	\$81,177.74
608	Curb Ramp w/Detectable Warnings	17	Each	\$700.00	\$11,900.00	\$342.00	\$5,814.00	\$450.00	\$7,650.00	\$682.77	\$11,607.09
609	Combination Curb & Gutter, As Per Plan	3,086	L.F.	\$18.50	\$57,091.00	\$20.85	\$64,343.10	\$18.00	\$55,548.00	\$17.02	\$52,523.72
611	4" Storm Drain Repair	1	Each	\$109.00	\$109.00	\$53.32	\$53.32	\$100.00	\$100.00	\$219.67	\$219.67
611	6" Storm Drain Repair	1	Each	\$143.00	\$143.00	\$70.93	\$70.93	\$110.00	\$110.00	\$246.41	\$246.41
611	8" Storm Drain Repair	1	Each	\$181.00	\$181.00	\$91.51	\$91.51	\$130.00	\$130.00	\$280.77	\$280.77
611	12" Storm Drain Repair	1	Each	\$260.00	\$260.00	\$141.59	\$141.59	\$200.00	\$200.00	\$370.15	\$370.15
611	12" Conduit, Type B (707.33)	503	L.F.	\$45.00	\$22,635.00	\$41.76	\$21,005.28	\$50.00	\$25,150.00	\$39.26	\$19,747.78
611	15" Conduit, Type B (707.33)	906	L.F.	\$42.00	\$38,052.00	\$44.05	\$39,909.30	\$53.00	\$48,018.00	\$60.45	\$54,767.70
611	18" Conduit, Type B (707.33)	452	L.F.	\$49.00	\$22,148.00	\$47.10	\$21,289.20	\$58.00	\$26,216.00	\$67.04	\$30,302.08
611	24" Conduit, Type B (707.33)	20	L.F.	\$85.00	\$1,700.00	\$101.43	\$2,028.60	\$75.00	\$1,500.00	\$95.97	\$1,919.40
611	36" Conduit, Type B (707.33)	20	L.F.	\$100.00	\$2,000.00	\$144.50	\$2,890.00	\$100.00	\$2,000.00	\$163.91	\$3,278.20
611	36" x 24" Reducer (707.33)	1	Each	\$440.00	\$440.00	\$617.81	\$617.81	\$900.00	\$900.00	\$1,541.14	\$1,541.14
611	24" x 18" Reducer (707.33)	1	Each	\$258.00	\$258.00	\$256.30	\$256.30	\$500.00	\$500.00	\$886.53	\$886.53

# Bid Breakdown

Base Bid		Shi		Shinn B	ros., Inc.	VTF Excava	VTF Excavation, LLC		L.J. DeWeese Co., Inc.		Tom's Construction, Inc.	
<u>Item</u>	<u>Description</u>	<u>Qua</u>	<u>ntity</u>	Unit Price	Total Unit Price	Unit Price	Total Unit Price	Unit Price	Total Unit Price	Unit Price	Total Unit Price	
611	Storm Manhole Type A, As Per Plan	11	Each	\$2,700.00	\$29,700.00	\$3,147.99	\$34,627.89	\$1,950.00	\$21,450.00	\$2,902.78	\$31,930.58	
611	Catch Basin Type A, As Per Plan	22	Each	\$2,000.00	\$44,000.00	\$2,224.22	\$48,932.84	\$1,725.00	\$37,950.00	\$1,622.62	\$35,697.64	
611	Manhole Reconstructed to Grade	1	Each	\$300.00	\$300.00	\$600.00	\$600.00	\$750.00	\$750.00	\$900.62	\$900.62	
614	Maintaining Traffic, As Per Plan	1	Lump	\$5,637.00	\$5,637.00	\$4,988.40	\$4,988.40	\$23,500.00	\$23,500.00	\$3,605.39	\$3,605.39	
624	Mobilization	1	Lump	\$15,000.00	\$15,000.00	\$26,124.49	\$26,124.49	\$0.00	\$0.00 *	\$8,823.57	\$8,823.57	
630	Removal of Signs/Supports and Reinstallation	1	Lump	\$2,600.00	\$2,600.00	\$1,312.42	\$1,312.42	\$200.00	\$200.00	\$1,050.94	\$1,050.94	
638	Fire Hydrant Removed, As Per Plan	3	Each	\$300.00	\$900.00	\$346.74	\$1,040.22	\$550.00	\$1,650.00	\$268.17	\$804.51	
638	Water Valve Abandoned, As Per Plan	9	Each	\$100.00	\$900.00	\$135.77	\$1,221.93	\$250.00	\$2,250.00	\$188.51	\$1,696.59	
659	Seeding and Mulching, As Per Plan	1,125	S.Y.	\$5.40	\$6,075.00	\$5.89	\$6,626.25	\$3.00	\$3,375.00	\$14.12	\$15,885.00	
32 12 18	Asphalt Concrete, Surface - Darke 404 - LV	209	C.Y.	\$176.00	\$36,784.00	\$108.00	\$22,572.00	\$165.00	\$34,485.00	\$175.71	\$36,723.39	
32 12 34	Asphalt Rejuvenating Agent (Reclamite)	6,000	S.Y.	\$1.20	\$7,200.00	\$1.19	\$7,140.00	\$1.50	\$9,000.00	\$1.24	\$7,440.00	
33 11 13	8" Water Line (AWWA C151, Class 53)	1,626	L.F.	\$78.00	\$126,828.00	\$77.07	\$125,315.82	\$79.00	\$128,454.00	\$79.21	\$128,795.46	
33 11 13	8" x 8" Tee	2	Each	\$600.00	\$1,200.00	\$394.68	\$789.36	\$200.00	\$400.00	\$456.98	\$913.96	
33 11 13	8" x 6" Tee	5	Each	\$600.00	\$3,000.00	\$381.00	\$1,905.00	\$200.00	\$1,000.00	\$437.92	\$2,189.60	
33 11 13	8" Plug	1	Each	\$315.00	\$315.00	\$195.46	\$195.46	\$100.00	\$100.00	\$262.25	\$262.25	
33 11 13	8" - 45° Bend	4	Each	\$450.00	\$1,800.00	\$274.32	\$1,097.28	\$200.00	\$800.00	\$341.55	\$1,366.20	
33 11 13	6" - 45° Bend	2	Each	\$360.00	\$720.00	\$220.74	\$441.48	\$200.00	\$400.00	\$292.03	\$584.06	
33 11 13	12" x 8" Reducer	1	Each	\$600.00	\$600.00	\$341.15	\$341.15	\$200.00	\$200.00	\$409.10	\$409.10	
33 11 13	8" x 6" Reducer	1	Each	\$405.00	\$405.00	\$236.59	\$236.59	\$100.00	\$100.00	\$309.95	\$309.95	
33 11 13	12" Cutting-in-Sleeve	1	Each	\$670.00	\$670.00	\$2,142.82	\$2,142.82	\$1,500.00	\$1,500.00	\$1,470.94	\$1,470.94	
33 11 13	8" Cutting-in-Sleeve	1	Each	\$425.00	\$425.00	\$1,272.08	\$1,272.08	\$600.00	\$600.00	\$645.25	\$645.25	
33 11 13	6" Cutting-in-Sleeve	1	Each	\$360.00	\$360.00	\$1,147.24	\$1,147.24	\$500.00	\$500.00	\$526.86	\$526.86	
33 12 13	Water Service Connection	47	Each	\$1,692.00	\$79,524.00	\$1,619.43	\$76,113.21	\$1,255.00	\$58,985.00 *	\$1,888.84	\$88,775.48	
33 12 13	2" Water Connection	1	Each	\$2,900.00	\$2,900.00	\$1,890.65	\$1,890.65	\$3,000.00	\$3,000.00	\$2,331.73	\$2,331.73	
33 12 16	8" Gate Valve w/Box	7	Each	\$1,560.00	\$10,920.00	\$1,194.98	\$8,364.86	\$1,250.00	\$8,750.00	\$1,626.25	\$11,383.75	
33 12 16	6" Gate Valve w/Box	5	Each	\$1,136.00	\$5,680.00	\$830.35	\$4,151.75	\$950.00	\$4,750.00	\$1,098.97	\$5,494.85	
33 12 19	Fire Hydrant	5	Each	\$4,025.00	\$20,125.00	\$4,482.74	\$22,413.70	\$4,100.00	\$20,500.00	\$3,975.56	\$19,877.80	
Spec	12" Inserta Tee Connection	3	Each	\$490.00	\$1,470.00	\$535.46	\$1,606.38	\$450.00	\$1,350.00	\$654.97	\$1,964.91	
Spec	Drain Line Curb Opening	1	Each	\$500.00	\$500.00	\$1,091.16	\$1,091.16	\$250.00	\$250.00	\$290.49	\$290.49	
		Total Base Bid		_	\$928,000.00	_	\$943,717.00	<del>-</del>	\$947,824.70 *	_	\$963,834.00	

<sup>\*</sup>Mathematical errors resolved in favor of the Unit Price.

# Bid Breakdown

# R.B. Jergens Contractors

<u>Item</u>	<u>Description</u>	Quan	<u>tity</u>	<u>Unit Price</u>	Total Unit Price
201	Stump Removed	16	Each	\$319.49	\$5,111.84
202	Catch Basin Removed	10	Each	\$324.62	\$3,246.20
202	Manhole Removed	5	Each	\$894.78	\$4,473.90
202	Curb and Gutter Removed	513	L.F.	\$3.98	\$2,041.74
202	Concrete Pavement Removed, Drives	279	S.Y.	\$7.55	\$2,106.45
202	Walk Removed	9260	S.F.	\$1.38	\$12,778.80
202	Pipe Removed	132	L.F.	\$8.76	\$1,156.32
203	Excavation, As Per Plan	1,900	C.Y.	\$24.43	\$46,417.00
204	Subgrade Compaction & Proof Rolling	6,000	S.Y.	\$1.85	\$11,100.00
204	Subgrade Preparation	200	C.Y.	\$57.55	\$11,510.00
204	Subgrade Stabilization - Geogrid	1,200	S.Y.	\$7.91	\$9,492.00
301	Asphalt Concrete Base	666	C.Y.	\$149.07	\$99,280.62
304	Aggregate Base, As Per Plan	671	C.Y.	\$48.61	\$32,617.31
407	Non-Tracking Tack Coat	330	Gal.	\$5.80	\$1,914.00
441	Asphalt Concrete Intermediate, Type 2 (448)	292	C.Y.	\$168.41	\$49,175.72
452	Non-Reinforced Concrete Pavement	376	S.Y.	\$103.05	\$38,746.80
608	Concrete Walk, As Per Plan	11,482	S.F.	\$5.03	\$57,754.46
608	Curb Ramp w/Detectable Warnings	17	Each	\$796.54	\$13,541.18
609	Combination Curb & Gutter, As Per Plan	3,086	L.F.	\$20.24	\$62,460.64
611	4" Storm Drain Repair	1	Each	\$523.61	\$523.61
611	6" Storm Drain Repair	1	Each	\$553.02	\$553.02
611	8" Storm Drain Repair	1	Each	\$606.59	\$606.59
611	12" Storm Drain Repair	1	Each	\$1,534.63	\$1,534.63
611	12" Conduit, Type B (707.33)	503	L.F.	\$80.18	\$40,330.54
611	15" Conduit, Type B (707.33)	906	L.F.	\$51.81	\$46,939.86
611	18" Conduit, Type B (707.33)	452	L.F.	\$74.63	\$33,732.76
611	24" Conduit, Type B (707.33)	20	L.F.	\$113.56	\$2,271.20
611	36" Conduit, Type B (707.33)	20	L.F.	\$117.84	\$2,356.80
611	36" x 24" Reducer (707.33)	1	Each	\$1,035.31	\$1,035.31
611	24" x 18" Reducer (707.33)	1	Each	\$415.37	\$415.37

# Bid Breakdown

Base Bid

R.B. Jergens Contractors

<u>Item</u>	<u>Description</u>	Quar	tity	Unit Price	Total Unit Price
611	Storm Manhole Type A, As Per Plan	11	Each	\$1,952.05	\$21,472.55
611	Catch Basin Type A, As Per Plan	22	Each	\$1,367.59	\$30,086.98
611	Manhole Reconstructed to Grade	1	Each	\$2,018.73	\$2,018.73
614	Maintaining Traffic, As Per Plan	1	Lump	\$9,274.76	\$9,274.76
624	Mobilization	1	Lump	\$25,579.67	\$25,579.67
630	Removal of Signs/Supports and Reinstallation	1	Lump	\$4,115.37	\$4,115.37
638	Fire Hydrant Removed, As Per Plan	3	Each	\$631.64	\$1,894.92
638	Water Valve Abandoned, As Per Plan	9	Each	\$169.52	\$1,525.68
659	Seeding and Mulching, As Per Plan	1,125	S.Y.	\$2.33	\$2,621.25
32 12 18	Asphalt Concrete, Surface - Darke 404 - LV	209	C.Y.	\$179.75	\$37,567.75
32 12 34	Asphalt Rejuvenating Agent (Reclamite)	6,000	S.Y.	\$1.25	\$7,500.00
33 11 13	8" Water Line (AWWA C151, Class 53)	1,626	L.F.	\$92.88	\$151,022.88
33 11 13	8" x 8" Tee	2	Each	\$303.68	\$607.36
33 11 13	8" x 6" Tee	5	Each	\$280.70	\$1,403.50
33 11 13	8" Plug	1	Each	\$239.09	\$239.09
33 11 13	8" - 45° Bend	4	Each	\$222.15	\$888.60
33 11 13	6" - 45° Bend	2	Each	\$116.61	\$233.22
33 11 13	12" x 8" Reducer	1	Each	\$100.88	\$100.88
33 11 13	8" x 6" Reducer	1	Each	\$242.48	\$242.48
33 11 13	12" Cutting-in-Sleeve	1	Each	\$3,369.85	\$3,369.85
33 11 13	8" Cutting-in-Sleeve	1	Each	\$2,862.07	\$2,862.07
33 11 13	6" Cutting-in-Sleeve	1	Each	\$2,386.24	\$2,386.24
33 12 13	Water Service Connection	47	Each	\$1,925.15	\$90,482.05
33 12 13	2" Water Connection	1	Each	\$3,548.04	\$3,548.04
33 12 16	8" Gate Valve w/Box	7	Each	\$1,419.31	\$9,935.17
33 12 16	6" Gate Valve w/Box	5	Each	\$1,111.45	\$5,557.25
33 12 19	Fire Hydrant	5	Each	\$4,943.72	\$24,718.60
Spec	12" Inserta Tee Connection	3	Each	\$2,517.86	\$7,553.58
Spec	Drain Line Curb Opening	1	Each	\$672.09	\$672.09

Total Base Bid

\$1,044,705.28